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1 #[FE 3% LEELTFREEESK B 30250 1 28550 1 58.800
2 BlEbHb 28 DHRYFEESLERR TE 28.450 2 26550 3 55.000
3 @M EX 25 RS &SR FiE 26.900 3 26.850 2 53.750
4 BT 24 WY ESZES K E% 24800 5 23650 5 48.450
5 |THEER 35 BERE A S ESK FEE 25.900 4 22300 9 48.200
6 IRA HPH 3 Bt AV PR =T e 22800 8 24500 4 47.300
BREFIE
gE 4357 &
D
[[=¥iva K% B2E = o #ERFIR A E RE A=Y B/a
YA = pL=8 DB DA ~F
1 &M &4 3 LEBRLTREEESR B 10300, 5500  7.1000  7.350 0.00  30.250
2 BlEFbHb 25 DHgYFEESERN B 9.3000 5.200  6.850  7.100 0.00  28.450
3 [EE #Ex 25 BRED S S T 8700 4600  6.650  6.950 0.00  26.900
4 TiEER 35 BERE A S EPHK FEEN 8.600 4500 6550  6.250 0.00  25.900
5 bk FET 25 NSl e £ 8.0000 4500  6.100  6.200 0.00  24.800
6 | shAT HKii 35 ER B ESK =g 72000 4500 5550  6.250 0.00  23.500
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1 | &Fs 35 LEBLTREEESR B 9.800 4500  7.150  7.100 0.00 28550
2 M EX 25 BRI S & T 8700  4.400  6.750  7.000 0.00  26.850
3 BlEHb 25 DHRYFEESEER PR 9.000 4200  6.650  6.700 0.00  26.550
4 RE HDK 3% ERHBIIIEERR | ER 7.800 43000  6.300  6.100 0.00  24.500
5 kT 25 AP E S SR £% 8500  3.000  6.000  6.150 0.00  23.650
6 FNIE¥Y 3% EEAYWEARE/ Bssyn KE 8.200 3.300 6.100 5.750 0.00 23.350
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1 TEEYEESEYR T 6.800 10.300  6.650  6.100  0.000  29.850
2 LEERATFAPEEIK A 72000 9.900  7.3000 5400  0.000  29.800
3  WEBEEEER 47 7100 9300  7.1000  6.150  0.000  29.650
4 | FHERYEESEYK R 6.800,  9.900 6550  5.900  0.000 29.150
5 | HRNZELFEESK BEA 6500 9.700  6.600.  6.100  0.000  28.900
6 EEYESEYR B 6.600 9500  6.800  5.950  0.000  28.850

AcAsystem 1/1



